Unit 1 — PreCalculus Review Worksheet Solutions
Answers for Worksheet 1
m=3 1 3) slope = und 4) x=3 x=0 xX=-7
o1 2" m, =0 y=2 AN 6 =
T3 m, =3 4
7) 8) 9) 10) 11) 12)
_92— _ —0=— 11 = -
y-2=1(x-1) | y-0=-2(x+4) y_ﬂzﬂ(xﬁ) y-3=3(x-2) | y-3-Yx o) y+2=0(x-3)
2 ory=-2
13) 14) 15) 16) 17) 18)
m=—§ m:_g (ué:o(l)e)fmed y-2=-2(x+2) y—4:—%(x+6) y:%
4,0 (3,0) none y—2=>(x+2) y—4:ﬂ(x+6) x=-—
(03) (0.4) 3
19) 62_7 20) —13 21) -1 22) -6 23)a) k=2
b) k=-2
Answers for Worksheet 2
1) 2) 3)
a) f(0)=3 P 2 a)
o) (+5)=0 3) f(‘z}? f(x+h)=x?+2xh+h? —3x—3h+2
b) f(0)=1 ,
c) f(-2)=-1 9 f(1)=2 b) f(x+h)—f(x)=2xh+h*-3h
d) f(a)=2a’ 0) f(x+h}2_f(x)=2X+h—3
4) 5) 6)
a) f(g(2))=0 a) f(g(x))=v2x+2 a) f(-2)=-2
b) g(f(0))=0 b) g(f(x))=2x+2 b) f(0)=2
5 B ¢ f(1)=3
0 g(f@j:ﬂ_ ) T{T(0) =22 e\t g
4 2 & 5(9(x)=4x) d) f(s +2)_25 +8s%+10
7)

a) D:x>1or [1»)
b) D:IR or (—oo,)
c) D:x=2o0r (—0,2)U(2,)

d) Dix=-1 -4 or (—o,—1)U(-14)U(4,x)




Answers for Worksheet 3

1) a) $(o)= 3 b) £(-5) <O swce (-5, £(-5) sits
£(8)=-2 below e x-axcs on The grapk of £(x).

e) flx)=0 @ x=-3,6,10 d) Fl)=3 @ x=0,Y

e) F(x) is incveasimy on (~4,2) ¥ (8,11) blc
+he slope of £6) s posrhve

£) FO)=% Havee Himes 9) £(f2) = £(v)= 3
h) (——5,—2) (li,1)

m=_3_
[
Y +2 = l%(sa—s)
V=1 = 2 e=11)
2) ay fo)=| b) £(8)<0 since (8, F£(8)) |ies
£(z)= 2 below The x-axrs

VL():=0@ x=-1,5,9 d) Flx)=2@ x=1, 3

e) £(x) rs Jecreas{n:, en (—3,-2), (2,7) ble
He slope of £l (s pegative

£) P0)=1 Hivee Fimes
) 442 £5)- £(=)
5 -2

o-~3
3

=il

h) m=o

»n




D) 0y (Fo3)(2) = Flol») b 9 (#)= ()

:-F(—-I) ¥
= i
¢) 4 ((9) = 4(-5) d) £(9(-3)= £-2)
- =3
e) §(F-1)= 9() £) ﬁ{q(.,))=1cz;)
. - 2 g

2.

a) At t=lomin, Holly was 0.15 ailes From hose.

W) A Y s, Holly was T wile Fom howe .

¢) Holly was more thuu Jo weile Row hont on (1,84).

N Holly was vestivg on (60, 74)

e) Holly veacled fle ocean ot £ %38 min, 2.8 miles Hom hoswes

£) m=135 . p.ors miles
20 “Tnin

MV m:=0 "“”‘%;,

W =99 min l-'{v“7 veturned howa .

?) Hou'j was J"’jﬁ';‘? -Pns*l-ci‘"“ % '{::Zcf min Simee
— e Jm.‘)'/\ ot l'\l—" dl.S'lLﬂﬂt-e s s-leepeS'l’.




Answers to Worksheet 4

1) |
ﬂ) £(u) = |o3. 3849
b) £(z.85) = 11.2178
e) ¢()= 201006

2)

b) £(-).8)= 30.815

c) £62) :io @ x=-3.71519
X = 0.20735
X 7 6.548Y

d) F6) has a mex @ (-2,33)

€) Flx) has a miv @ (Y,-15)

£l £(o)=5

3 £)=90 @ = -3,u8sL
x = [. g6l
X = Y 624¢c

3)

=0 @ x=-c.8167
X = ©

Glx)=> -3 +e*

J(x)z-o @ X =0.493

hix)= -2 + b x
hix) o ® Xx = 20.085%

)
a) £69)=36) @ X= [HeYS

b) f(x)=30) @ x = ~L.91L%
¥ = 4. 66y

M

5)

£0¢) hus & max @ (—0-4sB,-0.728)
(3.7133, 10.21L)

£t has a wmin @ (o.?:o,-?.73o-y)




Answers to Worksheet 5

0 X=§,X=—4 2) X=—1+|n3 3 X:£,5_72',137r,177r’257r,297r
2 2 18 18 18 18 18 18

4) x=4+e° 5 x=-1.6729,1.469, 0.203 6) x=-0.287,0.957

7 (1,1) 8) (2, 2),(—1,5) 9) (—1,0),(0,1),(1,0)

10) (1,5),(3,3) 11) (—2.057,—0.884), (2.638,0.481)

Answers to Unit 1 Review

1. y+6=3(x-1 2. x=0 2 4
y (x-1) s y—3_—g(x—3) 4, y+12=—§(x—4)
ory-— =—g(x+2)
5. y-2=2(x+1) |6 @ f(-3)=18 7. a) f(-3)=1 8. (-20),(10)
3 b) f(a+2)=a’-a-12 b) f(-1)=-1
3 f(x+h)—f(x)=2x+h_5 o) f(1)=2
h d) f(b*+2)=-b’
0. x=n20 10, x= X 5% 137 1ix 1. 1(-2)=6; f(-8)=—4
5 12 12 12 12

12. f(x)=0atx=-10,-5,0,and 5

13. £(x)>0 on (~,-10),(~5,0),(0.5).(5,)

14. f (x) =1 six times

15. f(x) is increasing on (-8,-2),(0,2),and (5,)

16. f(-4)>0




